
408L CLASS PROBLEMS

APRIL 6TH, 2020

Problem 1. Does
ř8

n“1
1
n2 converge or diverge? If it converges, find an upper

bound for its value.

Problem 2. Does
ř8

n“1 ne
´n converge or diverge? If it converges, find an

upper bound for its value.

Problem 3. Does the series:
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converge or diverge? If it converges, find an upper bound for its value.

Problem 4. Does
ř8

n“2
1

n logpnq converge or diverge? If it converges, find an

upper bound for its value.

Problem 5. Does
ř8

n“2
1

n logpnq2 converge or diverge? If it converges, find an

upper bound for its value.
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